
ASSEMBLY INSTRUCTIONS – EY10049 Water Bowl Cascade 

 

 

 

RM Resources, Building 1, Heyworth Road, Hucknall, NG15 6XJ, UK    RM Resources, Papendorp Park, Papendorpseweg 100, 
Utrecht 3528 BJ, Netherlands    

 www.tts-group.co.uk  Tel: 0800 138 1370 Fax: 0800 137 525 

               Check you have all parts listed 
 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

• 2 x Large Arches 

• 2 x Small Arches 

• 4 x 0.5L Bowls 

• 5 x 2L Bowls 

• 4 x L shaped plastic connectors 

• 4 x 3-way plastic connectors 

• 4 x Square inserts with ferrules 

• 2 x 24cm square tubes with drilled holes 

• 4 x 22cm square tubes (no holes) 

• 2 x 15cm square tubes (no holes) 

• 18 x clear plastic spacers 

• 18 x M6x50 socket screw 

• 18 x Nyloc nuts 

• 4 x M6x40 Button head screw 

• 1 x Allen Key M4 

• 1 x Allen Key M5 

• Parts required not supplied; 10mm spanner 

 

   

 3  

1 

 4 

6 8 7 8 9 

 
Parts List 

2 

Take the small arches and position with 

gutter holders facing outwards.  Insert 

the 3 way connector into the foot of 

the arch making sure the connectors 

are fitted in the direction as shown in 

the photograph.  This will be a tight fit, 

tap on a surface or use a rubber mallet. 

 

Take the 15cm smallest square tubes 

and connect the two arches 

together. 

 

Take the M6 x 50 screws and feed 
through the holes from the outside 
of the arch. Thread a plastic spacer 
onto the screw, repeat on opposite 
side. 
 

 

Fix on a small bowl.  You may find it 
easier to position the bowl, then 
thread the screw through the hole 
not forgetting the spacer).  Attach a 
nyloc nut but do not tighten yet. 

 

Repeat so all 4 small bowls are attached. 
Use the M8 Allen key and spanner or  
pliers to tighten the nut until the screw  
is past the blue rim (as seen in the  
photo).  Do not over tighten or you will  
not be able to tip the bowls. 

 

Take the large arches and insert the 

2-way connectors so they are 

pointing inwards towards each other. Attach the 24cm square tube with 

drilled holes, repeat on the other end. 

holes 
If the square threaded inserts are 
not already in the 22cm tube, tap 
one into the end of each tube. 

 

Slot the poles onto the 3 way 
connectors on the small arch.  
Position the bars to line up with the 
bolt holes.  
Connect using the 4 M6x40 button 
head screws and tighten with the M6 

Allen key provided. 
 

Using the same process as above 
attach all the large bowls to the 
outer arch, do not tighten screws 
until all bowls are on.  Then tighten 
using the nyloc nuts as above. 

 

3 5 

Plastic spacer 

Assembly easier with two persons. 

 

11 10 

12 

Your item is ready to use! 

Add guttering, buckets, water and children for lots of 

fun, imagination and learning. 

http://www.tts-group.co.uk/

